TAIGONG

Ze Ll R il

sLnsE LillimzSBR2 O

Jiangsu Taigong Machinery Equipment €o., Ltd.

ik SIARLTEHTREXR B 292
BBi% : 0510-80215222

fEEH : 0510-82601236

mR#g : 158553680@qgqg.com
FASE : 13961848999




TAIGONG
— LR —

L C

I ik >>>>>

SCWH 7 &3tz M0 a8 (JB/T6387—1992) HEEEA T EH L, 0.3

SCWU,Z SCWS, SCWO=4%#, FTE=ENVHFEe. 011, EI,

o 5 =

iEH, L, SRS LR A

TAESM: WS BB 1500r /ming TAERELREE N -40~40C, 2 TAEERELR LR

T-OC I, J2 0 A it i i 04 2000 28 310 °C DA L 4

2.1 &%

S duiih, e, BRid >>>>>

f2 [a]35 ¥ .

(1) SCWUR—I#H-7E 5546 2 F A% 4 2 =X 101 50 [0 6 8 e D 2%
(2) SCWSHI—uid FT7r sl 5 2 0 i b 25 = 1] ST 18] A i A ok 3 2%
(3) SCWOM— ke 48 > bt 5 = 5 50 150k 0 4 ol 3 2%

2.2 iR
SCW 5= 7] il 2 =X, 58] o0 [ e s FF ol 8 5 WL R 2%,
H'\-\. rh'8h 'F.}"
B f " o 2 3 4 5 g 7 8 g 10 11 12
e T _ | I _ _ | | _ |
SCWU % -Z3| 63 g0 | 100 | 1265 | — 80 | — | 200 | — 250 — | ‘815
SCWS | | L | | | : . |
sCWQ &Y - — | — - 140 — | 180 — | 225 — | 280 | —
. RERP -, $FRNMEE SR, EEEREA PSSR,
2.3 DFRETNLE
SCW Z ) dly 24 =X 158 50 1580 ke e o o B 8% 10 20 F 1% 3l bled B2 46 8 e AR B LT 2.
et its 1 ' 2 3 4 5 6 7 8 9 10 11 12
i 5 | 63 8 10 | 125 16 20 25 | M5 | 40 50 83
2.4 Fric Tl
SCW U 200-10-1 FJB/T6387—1992
i dtE 5
i AL 1% Al
oI FpREEC R L
nfrfEahtbi=10
L Ea=200mm

WA R Z T

b 2o X 1B S [ER]  h F DkL 2%



L C

TAIGONG
— LR —

gy 5 S FL B R
bz
| : [ I
N o ey ;
P q@ 4 o L8
i=16 !

15 L | a6y | & b t | P
SCWUGB3 63 150 19 28 6 21.5 128 19 38 6 21.5 128 30
SCWU80 80 175 24 36 8 27 151 24 36 8 27 151 40
SCWU100 100 218 28 42 8 31 182 24 36 8 27 176 50

o R | p, t. L L s Hi H: D: Ds B d=(h8) | k | Wifkkg
SCWue3 8 33 70 7 95 60 220 | 102  MBx16 63 80 | 3 17
SCWUB0 12 | 933 75 110 106 66 267 125 ' M8x16 69 100 | 3 24
SCWU100 14 53.8 86 130 140 85 325 150 'M10x20 80 120 | 3 41

SCWU125—3158 @i 284 e R~T

a I..dn LE
— L 8 [ TR
| ' 1 e sFLEe R RIS (F—ir A s)

bzl
I 'g : =T
t1 il . '

A
1

K I 2 e Eifﬁi ] L | o e e e

_SCWU128 | 125 | 235 | 32k6 | 58 | 10 | 35 | 218 | 206 | 42 | 8 | 37 | 202 | 60 | 16 | 644 | 107
SCWU140 | 140 | 265 | 3BkE | 58 | 10 | 41 | 228 | 286 | 42 | 8 | 31 | 212 | 65 | 18 | 694 | 120
SCWU160 | 160 300  42k6 | 82 | 12 | 45 | 277 | 32k6 | 58 10 | 35 | 253 79 | 20 | 748 | 125
SCWU180 | 180 | 330 | 42«6 82 | 12 | 45 | 292 | 32k6 | 58 | 10 | 35 | 268 80 | 22 | 854 | 1375
SCWU200 | 200 | 365 | 48k6 | 82 | 14 | 51.5 | 324 | 3Bk6 | 58 | 10 | 41 | 300 @ 85 | 22 | 904 | 143
SCWU225 | 225 | 415 | 48k6 | 82 | 14 | 515 342 | 3Bk6 | 58 10 | 41 | 318 | 95 | 25 ]1_0_0.4: 160
SCWU250 | 250 | 475 55k | B2 | 16 | 59 | 380 | 42k6 | 82 12 | 45 | 380 | 106 | 28 |111.4 | 168
SCWU280 | 280 | 540 (60m6 105 | 18 | 64 | 430 | 48k6 | 82 14 | 515 | 407 115 32 | 1224 | 180
SCWU315 | 315 600 65m6 105 18 69 470  4Bk6 82 | 14 | 515 447 125 32 1324 | 200
i A2 I T Ol (R P I ) - Ds D4 B | B2 ‘ m ‘ R h {Eg, k H;%%kﬁm
SCWU125 | 202 143 | 105 | 380 | 210 M12x24 |13x35 84 | 84 | 145 | 135 @ 80 | 180 | 10 80
SCWU140 | 220 @ 152 | 125 | 433 | 235 |M12x24 [13x35 95 | 95 | 160 | 150 @ 105 | 200 & 10 108
SCWU160 | 245 @ 158 | 125 | 470 | 270 |M12x24 [13x35 95 | 85 | 170 | 170 | 95 | 220 10 138
SCWU180 | 260 @ 175 | 150 | 530 | 290 (M16x30 |17x45 110 | 110 | 200 | 190 | 125 | 245 & 12 183
SCWU200 | 295 @185 | 148 | 580 | 320 |M16=30 |17x45 115 | 115 | 250 213 110 | 245 & 12 243
SCWU225 | 320 198 170 | 640 | 360 M16x30 | 17x45 130 | 130 | 280 235 | 145 265 | 12 286
SCWU250 | 360 203 150 | 682 | 420 M16x=30 |17x45 135 | 135 | 320 265 125 280 | 12 350
SCWU2B0 | 390 227 165 | 755 | 450 M20x=38|21x55 150 | 150 | 380 295 130 350 @ 14 483
SCWU315 | 430 | 252 | 195 | 850 | 520 'M20x38 |21x55 170 | 170 | 410 | 340 150 380 | 15 655




TAIGONG
C‘Y— e LR —

SCWS63—1008Y il i3 28 HM 2 R ~F

I Hz it
Lo Myl )
&
3
+ m
1
——
ol
Rt | | <16 i=16 |
Ky L a | & e I b tt | Lt di(j6) Iy by ts I bk
SCWS63 63 150 | 19 28 6 | 215 | 128 19 28 8 21.5 128 30
SCWS80 80 | 175 | 24 | 38 8 | 27 | 151 | 24 | 3 | 8 | 27 | 1581 | 40
SCWS100 100 218 28 42 8 31 182 24 36 8 o7 176 50
i .% K ?'I- b2 | t2 Lz Ls La ‘ Hs ‘ Hz D1 Da B d:l:hﬂjll k (mﬁ%kﬁﬂ}
SCWS63 8 | 333 [ 70 | @7 95 | 60 | 220 | 102 [MBx16 63 | 80 |3 | 17
SCWs80 12 | 433 | 75 | 10 106 | 06 | 267 | 129 [MEBxM6| €@ | 100 |3 | 24
SCWS100 14 53.8 86 1300 140 a5 325 150 |M10x=20] 80 | 120 |3 41
SCWS125—315RU R R~T
L Hz | | . Pl B A (F -4 U s )
Hi a il : : ! @ 1;
IR a— 4D |Lh | S I N s
= LT ) k
' i 52 il L e B
|‘~ ‘ra e lE -bi'_
2] :; Iﬁl [ 2 5 1
1
m‘! ;’[r. 1_1 =)
zimm T ¢ '
e M. i
R~ R e i=16
Yy e a d: d+ I+ b ts L, di I b+ t | L Dz{h?] b: t: L.

SCWS125 | 125 | 235 | 32k6 | 58 | 10 | 35 | 218 | 286 | 42 | 8 | 31 | 202 | 60 | 18 | 644 | 107

_ SCWS140 | 140 | 265 | 38k6 | 58 | 10 | 41 |28 286 | 42 | 8 | 31 [ 212 | 65 | 18 | 694 120
SCWS160 | 160 | 300 | 42k6 82 | 12 | 45 | 277 326 58 | 10 | 35 253 | 79 | 20 | 749 | 125
_SCWS190 | 180 | 330 | 42«6 | 82 | 12 | 45 | 292 | 32k6 | 58 | 10 | 35 | 260 | 60 | 22 | 854 [197.5
SCWS200 | 200 | 365 | 48k6 82 | 14 | 515 324 | 38k6 58 | 10 | 41 | 300 | 85 | 22 904 143
SCWS225 | 225 415  48k6 82 | 14 515 342 38k6 58 | 10 41 318 95 | 25 1004 160
_ SCWS250 | 250 475 | S55k6 82 | 16 | 59 | 380 42k6 82 | 12 | 45 380 105 | 28 1114 168
SCWS280 | 280 540 60m6 105 | 18 64 430  48k6 82 | 14 | 515 407 115 | 32 1224 180
SCWS315 | 315 600 | 65m6 | 105 | 18 69 | 470 | 48k6 82 | 14 | 515 447 | 125 | 32 1324 200

TR e e e e e e e e

N Lo | Lo| H| H ‘ o | D | b | B | B ‘ m | R | b |ane) k | BRKE

__SCWS125 | 202 | 143 | 105 | 380 | 2100 |M12x24 | 13x35 | &4 | 84 | 145 | 135 | 80 | 180 | 10 o
SCWS140 | 220 152 | 1256 | 433 | 235 M12x24 | 13<35 95 | 95 | 160 | 150 = 1056 | 200 | 10 108
SCWS160 | 245 158 | 125 | 470 | 270 M12x24 13=35 95 | 95 | 170 | 170 | 95 | 220 | 10 138
SCWS180 | 260 | 175 | 150 | 530 | 290 M16x30 17x45| 110 | 110 | 200 | 190 @ 125 | 245 | 12 | 183
SCWS200 | 295 185 | 148 | 580 | 320 M16=30  17x45 115 | 115 | 250 | 213 110 | 245 @ 12 | 243
SCWS225 | 320 198 170 | 640 | 360 M16x30 17=45 130 | 130 | 280 | 235 145 | 265 | 12 | 286
SCWS250 | 360 & 203 | 150 | 682 | 420 M16x30| 17x45 135 | 135 | 320 | 265 125 | 280 | 12 | 350
SCWS280 | 390 227 | 165 | 755 A 450 M20x38 21x55 150 | 150 @ 380 | 295 130 | 350 | 14 | 483
SCWS315 | 430 252 | 195 | 850 | 520 M20x38 21x55 170 | 170 | 410 | 340 150 | 380 | 15 655




L C

SCWO63—1008Y i 28 4P 2 R~

TAIGONG
— SmLIRERA —

-
B ﬁ o
- @ PR S AL 3TN
- I I
5 2 ® Kr/ ‘ 5 hb;T' .
' ' . &5 : n@ . B
i | . g o :
i 1
| _"’:"ff"“‘é | k s
6-Ds — B Lk
a5 ] B La aE L: X
R 1<<16 i=16 |
A1 55 2 % [dGe) [ u_ [ b t L | die) | I bs | G |
SCWOGB3 63 150 19 28 5] 21.5 128 19 28 I B 21.5 128 30
SCWOB0 80 175 24 36 8 2T 151 24 36 8 27 151 40
SCWO0100 100 218 28 42 8 31 182 24 3% | 8 27 176 50
5y o bz | ta Lz Ea | ¥ Hi He D1 Da B dz k IR KRl m)
SCWO63 8 | 335 70 97 95 60 220 102 | M8x16| 63 80 |3 | 17
SCwoso 12 | 435 75 110 106 66 267 125 | M8x16| 69 100 | 3 24
SCWO100 14 53 8 86 130 140 85 326 150 M10x20| 80 120 3 M
SCWO125—315RI g iR 2B 5ME R~
R S TN - [ _ By
i
4-De Lo
LU - i 5 S :
i Il iy & b Lo B PeRCR A (F—aly WL )
- 1 i ke 1F
S-S A / =1 :
= Tl ' i _n* % |
E"D.':I--"'fj ! : [’ -h ) 1
5 Ty
=08
R i<l16 i=16 |
R : & T T T | Vo e e e s I
SCWO125 | 125 | 235 | 32k6 | 58 | 10 | 35 | 218 | 286 | 42 | 8 | 31 | 202 60 | 18 | 644 | 107
SCWO140 | 140 | 265 | 38k6 = 58 | 10 | 41 | 228 | 286 | 42 | 8 A | N2 | 65 | 18 | 684 | 120
SCWO160 | 160 | 300 | 42k6 @ 82 | 12 | 45 @ 277 32«6 @ 58 10 | 35 [ 253 | 70 | 20 [748 | 125
SCWO180 | 180 | 330 | 42k6 | 82 @ 12 | 45 | 292 | 32k6 | 58 10 | 35 [ 268 | 80 | 22 | 854 [1375
SCWO200 | 200 | 365 48k6 82 = 14 | 515 | 324  38k6 | 58 10 | 41 | 300 | 85 | 22 | 904 | 143
SCWO225 | 225 | 415 | 486 | 82 | 14 | 515 | 342 | 38«6 | 58 10 | 41 [ 318 95 | 25 1004 | 160
SCWO250 | 250 | 475  55k6 | 82 16 | 59 | 380 @ 42k6 | 82 12 | 45 | 380 | 105 | 28 | 1114 | 168
SCWO280 | 280 | 540 60m6 105 18 | B4 | 430  48k6 | 82 14 | 515 | 407 | 115 | 32 [1224 | 180
SCWO315 | 315 | 600 65m6 105 18 | 69 | 470 | 48ké | 82 14 | 515 | 447 | 125 | 32 |1324 | 200
o Y| ke | b | He | He | D0 D; D. Bi | B: | m 5 h | dAh8) k |Mike(raiEm
SCWO125 | 202 | 143 | 105 | 380 | 210 |M12x24 1335 84 | 84 | 145 | 135 | 80 | 180 | 10 80
SCWO140 | 220 | 152 | 125 | 433 235 M12x24 13=35 95 | 95 | 160 @ 150 | 105 | 200 | 10 108
SCWO160 | 245 | 158 | 125 470 270 M12x24 13x35 95 | 95 | 170 170 | 95 | 220 & 10 138
SCWO180 | 260 | 175 | 150 | 530 290 |M16x30 17x45 110 110 | 200 | 190 | 125 245 | 12 183
SCWO200 | 295 | 185 | 148 580 320 M16x30 17x45 115 | 115 | 250 213 | 110 245 | 12 243
SCWO0225 | 320 | 198 | 170 640 360 M16x30 17x45| 130 130 | 280 | 235 | 145 265 | 12 = 286
SCWO250 | 360 | 203 | 150 682 420 M16x30 17=45 135 135 | 320 265 | 125 280 12 = 350
SCWO280 | 390 | 227 | 165 @ 755 450 M200x38 21x55 150 150 | 380 | 296 | 130 350 14 483
SCWO315 | 430 | 252 | 195 850 520 M20x38 21x55 170 170 | 410 340 | 150 380 15 655
SCWEZHS AN RSB B EEERTCWEY, 20876, 77 78, 7901,





